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AOP - s | B4BEEATR| BBEEART |BATERIEATR| F47EIEKRT

svxvy | PURHIE i Aok || FHEAS | FANKS | FHEAE | b—FARRR

1 Fxl T B KA 1220 600 20 600

2 FAA avk BAENEES 930 90 90 600 150

3 FAA gk L 690 270 420

4 FAA A b 5 M Fosi 620 420 200

5 F ol — AR FEZA) 602 42 270 270 20

6 FATC RS 600 600

7 HLTC ZH 450 90 90 270

8 HLTC PR 440 20 420

9 HLTC INEE PN 420 420

9 FATC B 2R 420 150 270

11 7)Y IEER T 360 270 90

12 FATC REEES 350 90 90 150 20

13 FAAT Gk TEH KA 332 270 42 20

14 HEARTC LA Ak 330 150 90 90

14 HEETJ i A B 330 90 90 150

16 FAA 3k FACEET 314 150 150 14

17 FAA gk IRk 312 42 270

18 V=—J8 K K H 260 90 20 150

19 Avh A R 242 42 20 90 90

19 HPET 7 BRI PR 242 42 20 90 90

21 HPET Y IIEESS 240 150 90

21 HPET Y JENT (T 240 150 90

23 JEARHKF BPIRT 5 224 42 140 42

24 NTT R&D 15K P 202 20 42 140

25 FATC #7 | BB 200 200

26 T.0.P NG 194 42 20 42 90

27 T.0.P 7 H 180 90 90

27 HPET 7 1= B 180 90 90

29 Va— MK 5 172 42 20 90 20

29 HPET 7 ENIR 5 172 12 20 90 20

31 HLTC [ H & — 170 150 20

31 YV =—JEK S (HTE 170 20 150

31 HPEET K T 170 150 20

34 HPET Y & H B 152 90 42 20

34 JEARHKF INEIES 152 42 20 90

36 ENAEZN RO Es 150 150

36 FAR avk LI B 150 150

38 YV =—JEK o F T 140 90 50

39 HEARTC HEH b 132 42 90

40 AN 4 Kfa o 110 0 90 20

41 7Y FOH w4 92 42 50

11 FATC WE ¥ 92 42 50

43 FAA av W — M 90 90

43 T.O.P Ve BEH 90 90

43 FxlL P T AE—RL 90 90 0

43 EE), FEE G TR 90 90

43 Fxl oY B IR 90 90

43 ZDOHETC Il v 90 0 90

49 HEETJ AR X 82 20 42 20

50 Xvbh, AV HLH5E H A 70 50 20

50 Fvh AV LBk 21 70 30 40

52 F ¥ ATC . E = 62 42 20 0

53 TEE), fE1E IR 60 30 30

54 ZDOHETC IEEE S 56 42 14

55 Fvh A BRERER 50 50

55 T BZE =ih 50 50

55 NTT R&D AT AE 50 20 30

55 FxL T [Z VN 50 0 50

55 JEART AT K EA 50 50

55 HEARTC HEAK Fif 50 40 10

55 5, fEE —“HBRX 50 20 30

62 Fvbh, AV SFHH 40 42 42

62 HPET S RS 2 42 42 0

62 b, A FOH HHR 42 42

62 7Y kIR HE 42 42 0

62 FxLoD B 12 0 12

62 NTT R&D AR F5 42 42

62 HpETY Iy BEE 42 42 0

62 JE KHKF Jik AT 42 42

62 HEET R 42 42

62 F ¥ ATC g 1= 42 42




AOP Rk K4, wae FAEIEATIR| F48EIEART |PATHIEKRTR| F4TRIEKRT

Sy P FA b FHEAE | M—FANKE | FHEAE | FTFARS

62 HLTC N e 42 42

73 Fxl T A =i 41 28 10 3

74 ‘BDHETC g H TER 40 40

74 Fobh A PR iR 40 40

76 BIEATC TR R 31 18 10 6

76 Fvh A EEEE 34 28 6

78 F ¥ ATC N 30 30

78 FxlL oY R ES 30 30

78 FAA gk VERk ik 30 30

78 F o ATC Ve 5 — 30 30

78 HLTC AE B 30 30

78 F 2 ATC ENETS 30 30

78 NTT R&D A FaE 30 30

78 HPET Y @K B 30 30

78 EE), FEE PN 30 30

78 Fxl oY B % 30 30

88 E5), EfE JIE F 28 28

88 HEETJ IR —HF 28 14 14

88 Y =—J5EK A OBERR 28 14 14

88 Fvh A e 28 14 14

88 EE), FEE ikl FH 2§~ 28 14 14

88 Fvh A EhE A 28 18 10

88 HPET 7 & Bk 28 28

95 FxlL oY TN BE 24 18 6

96 Frl Y R & 22 3 10 6 3

97 Fxl T RS Fo 21 6 3 6 6

98 HZOHETC EIIECE 20 20 0

98 FxlL P BRIE PR E 20 20 0

98 ZROHETC & H s 20 20

08 HET 15K fEE 20 0 20

98 5, EfE HJI K — 20 20

08 HLTC H— 20 20

98 JEARHKF 398 Kl 20 20

08 HEARTC ] =% — 20 20

98 |[Uo— A TE— 20 20

08 FATC Vi /K LA 20 20

98 NTT R&D ARE FI5F 20 20

109 FxlL P FEESE 19 6 10 3

109 EINE /% 19 3 3 3 10

111 JEARHKF 5 s 18 18

111 EH), FEE JNHEAT [EDHE 18 18

111 HOETC BPIR ] 18 18

111 HOETC Tk % 18 6 6 3 3

111 TEE), fEE A 18 18

111 EE), FEE HE 15 18 18

117 Va— T S5 HIl 16 10 3 3

118 FxlL Y £)1] EAh 15 3 6 6

118 Fyloo 1T Fe— 15 3 3 6 3

118 b, AV A PS 15 3 6 6

121 F L ATC A BT 14 14

121 ZOHETC B A 14 14

121 JT=AITT AR K& 14 14

121 HPET Y [T VN 14 14

121 V=—ER Rk A 14 14

121 b, A NI K1 14 14

121 Y =—JEOR PR B 14 14

121 JEKHKE KB & 14 14

121 V=—JE K BN A 14 14

121 HLTC [ K 14 14

121 HEETJ KB Fn7z 14 14

121 FxlL Y K= H A 14 14

121 = —JER /INEE TEKER 14 0 14

121 [JZRM&AT ik =] 14 14

121 FIEARTC fHH 750 14 14

121 FEATC IR B 14 14

121 HET IV B 14 14

121 [{e9). fifE B AEH 14 14

121 Fxl Y i = 14 14

121 ZDOHETC PR —2Z 14 14

121 FAA gk R — 14 14

121 5, EfE by A 14 14

143 AH—TC AR —5F 13 10 3




AOP _ we | BREEARTE| FREIEART |B4TEEARTR| B4TEEAT

svxyy | PURHIE A Bk | FHERD | ARk | FHEAL | ARk

144 HOETC JEAR FEAT 12 6 3 3

144 b, A [EEHER 12 3 3 3 3

144 T~E FH 12 6 6

147 Ja— = H A 10 10

147 FxlL P ++ 10 10

147 Fxl oY ATH HEFD 10 10

147 5, fE(E K= EL 10 10

147 F o ATC IERESS 10 10

147 Joa— £ ik H] 10 10

147 TE5). {E1E T-5F 10 10

154 HEETJ SR 9 6 3

154 Fxl Y NH EE 9 6 3

154 A7 —TC f&If =k 9 3 6

154 Fxl T R IR 5a, 9 3 6

154 HI =R Fim EIR 9 3 3 3

159 F R A~ ek i1 6 6

159 Kb A s EE 6 6

159 B8 fEE KA B 6 6

159 HJER Il 15 6 6

159 [7E8). (L1E KB B 6 6

159 TEE, fEE AR AT 6 6

159 EE), FEE T K 6 6

159 HOETC KB =C#E 6 3 3

159 Frl oD [EEE 6 3 3

159 Joa— ST 6 3 3

159 FAA AR [N 6 3 3

159 XVh, A JITHE 5 — 6 3 3

159 FxlL Y FOR RIR 6 3 3

159 Fyloo JHEF 3N 6 3 3

159 FxLoD TN B 6 6

159 EE), fE1E EK B2 6 6

159 TE5) . E1E T 6 6

176 DY) B w 3 3

176 T A NS 3 3

176 Fxl Y H 2 3 3

176 25 —TC DI EYN 3 3

176 Fvbh, A REN 3 3

176 NTT R&D HiiG SR 3 3

176 EE, fE(E At — 3 3

176 242 —TC e lR B — 3 3

176 EE, fEE SR 3 3

176 EE), FEE =] i 3 3

176 Fb AV L F 3 3

176 252 —TC PNl 3 3

176 {2, (ilE GRS 3 3

176 E8), £ ) K 3 3

176 F ) — - F B 3 3

176 E8), £ EEES 3 3

176 F o ATC RESN 3 3

176 Fobh AV IR AR — 3 3




